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National Clean Air Programme has been launched
by the Central Government in the year

(a) 2018 (b) 2017

(c) 2020- (d) 2019

The rulers of which of the following dynasty have
been called as ‘Shriparvatiya’ in Puranas ?

(a) Vakatakas (b) Ikshvakus

(c) Shaks (d) Kharvelas

Which of the following Committees recommended
a poverty line based on nutritional requirements
exclusively ?

(a) Alagh Committee

(b) Lakdawala Committee

(c) Tendulkar Committee

(d) Rangarajan Committee

The official ‘Agronomar’ during Mauryan age was
related with which of the following field ?

(a) Weight and measurement

(b) Administrative management

(c) Construction of roads

(d) Revenue management

Which of the following indicators is NOT used to
calculate Human Development Index (HDI) ?
(a) Life Expectancy

(b) Education

(c) Per Capita Income

(d) Social Inequality

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List -1 List -1
(Mahajanpadas) (Capitals)
A. Matsya 1. Mathura
B. Kuru 2. Potan
C. Sursena 3. Virat Nagar
D. Asmak 4. Indraprastha
Codes :

A B (o D
(a) 4 2 1 3
(b) 3 1 4 2
(c) 3 4 1 2
(d) 2 3 4 1
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7, Theidea of ‘Cultural Poverty’ was given by

‘z (a) Oscar Lewis

10.

148

(b) Gunnar Myrdal

(c) Aashish Bose (d) Amartya Sen

Given below are two statements, one is labelled

as Assertion (A) and the other as Reason (R):

Assertion (A) : We have much more information

about Cholas than their predecessors.

Reason (R) : The Chola rulers adoﬁted the

practice of having inscriptions written on the walls

of temples giving a historical narrative of their

victories.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

During the mid 80’s decade of twentieth century,
the negative aspects of development were
discussed at large. Which one among the
following was NOT such important ?

(a) Degradation of natural resources

(b) Environment pollution

(c) Politics and Development

(d) Displacement and Rehabilitation of masses

Which of the following Indian Archaeologists first
visited ‘Bhimbetka Caves’ and discovered prehistoric
significance of its rock paintings ?

(a) Madho Swaroop Vatsa

(b) H.D. Sankalia

(c) V.S. Wakankar

(d) V.N. Mishra

No. of cities in U.P. which are covered under the
‘Smart City’ Scheme
(a) 10
(c) 15

(b) 12
(d) 18
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12.

13.

14.

15.

16.

Match List — | with List— Il and select the correct
answer using the codes given below the lists :

List -1 List-11
(Harappan Site) (UT/State of India)
A. Balu 1. Uttar Pradesh
B. Manda 2. Jammu and Kashmir
C. Padri 3. Haryana
D. Hulas 4. Gujarat
Codes :

A B C D
(a) 3 2 1 4
(b) 2 3 4 1
(c) 2 4 3 1
(d)y 3 2 4 1

The discussion on ‘Sustainable Development was
started after submitting a report on environment
to the United Nation in 1987. That report was
(a) First Report on Climate Change

(b) Our Common Future

(c) Second Report on Climate Change

(d) Fifth Assessment Report

Consider the following statements and select the

correct answer using the codes given below :

1. The Sun temple of Multan is mentioned
by Hiuen Tsang, Abuzaiyid, Al-Masudi and
Alberuni.

2. The pilgrimage to Sambapur was
associated with Sun worship.

Codes :

(a) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

The Atal Innovation Mission
initiative set up by

(@) Ministry of Human Resource Development
(b) NITI Aayog

() Ministry of Social Justice and Impowerment
(d) Ministry of Science and Technology

(AIM) is a flagship

Who of the following was sent as representative of
labourers by Indian Government in the Washington
Summit of I.L.O. in the year 1919 ?

(@) V.P. Wadia (b) N.M. Joshi

(c) C.F. Andrews (d) Joseph Baptista
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18.

19.

20.

21.

The book ‘Silent Spring’ published in 1962 which
set the tone for an environmental movement in
the world, was written by

(b) Karl Marx

(a) Caro|yn Merchant
(c) Rachel Carson (d) Rajgopalan

With reference to the Treaty of “Aix-la-Chapelle
— 1748” which of the following statements is/are
correct ?

1. The | Carnatic War was ended.

2. The English got back Madras.

Select the correct answer using the codes given
below.

Codes :
(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Which one among the following is NOT covered under
Integrated Child Development Programme ?

(a) Supplementary Nutrition

(b) Immunization

(c) Nutrition and Health Education

(d) Family Planning

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List—-1 List -1l
A. Indian Arm Act 1. 1876
B. Royal Title Act 2. 1878
C. Indian High Court Act 3. 1869
D. Indian Divorce Act 4. 1861
Codes :
A B C D
(@ 2 3 1 4
(b) 3 1 2 4
(c) 1 2 3 4
(d) 2 1 4 3

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List -1 List-1I
A. Indus Valley Civilization 1. Pastoral
B. Later Vedic Society 2. Land Lordism
C. Rigvedic Society 3. Agrarian
D. Medieval Period 4. Urban
Codes :

A B C D
@4 2 3 1
)2 1 4 3
)3 4 1 2
(dy:4: 3 - 2
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22.

23.

24,

25.

26.

Who had merged Sikkim in India ?
(a) Lord Hastings

(b) Lord William Bentinck

(c) Lord Dalhousie

(d) Lord Auckland

Kanpurand Lucknow cities of U.P. became million
cities as per the census of India in the year

(a) 1951 and 1961 respectively

(b) 1961 and 1971 respectively

(c) 1971 and 1981 respectively

(d) 1981 and 1991 respectively

Who among the following leaders did NOT
participated in the Second Round Table
Conference ?
(a) M.K. Gandhi
(b) Sarojini Naidu
(c) Pt. Madan Mohan Malviya
(d) Dr. Rajendra Prasad
Match List — | with List - Il and select the correct
answer using the codes given below the lists :
List -1 List =1l
A. Jajmani 1. North India
B. Bara Balute 2. Karnataka
C. Mirasi 3. Maharashtra
D. Adade 4. Tamil Nadu
Codes :
A B € D
(a) 1 2= 334
(b) 1 S g
(eyd - 45 22253
(d) 1 34522
Match List — | with List — Il and select the correct
answer using the codes given below the lists :
List — | List -l
(Book) (Writer)
A. The Story of My 1. Surendranath
Deportation Banerjee
B. Gita Rahasya 2. Maulana Abul
Kalam Azad
C. ANation in Making 3. Lala Lajpat Rai
D. India Wins Freedom 4. Bal Gangadhar
Tilak
Codes :
A B c D
(a) 3 4 1 2
(b) 4 2 1 3
(c) 2 4 1 3
(d) 4 3 2 1
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28.

29.

30.

3.

The concept of ‘Marginal Man’ was propounded by

(a) Robert E. Park (b) Robert Redfield

(c) Louis Wirth (d) Louis Dumont

Who among the following established a modern
armoury in Dindigal Mysore in 1755 ?

(a) Nanjraj

(b) Haider Ali

(c) Devraj

(d) Chikka Krishnaraj

Which one of the following is NOT a major cause
of Wildlife Extinction ?

(a) Loss of natural habitat

(b) To make fire in the forest

(c) lllegal commercial trade of wildlife

(d) Fast pace of population growth

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R):

Assertion (A) : The British Government
introduced different land revenue system in
different part of India.

Reason (R) : It led to create different classes in

Indian peasantry.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

In August, 2020 Railway Museum in India was

dedicated to the nation at which of the following
places ?
(a) Hubballi

(c) Silvasa

(b) Mysore
(d) Chittaranjan
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32.

33.

34.

35.

36.

Consider the following text and arrange them in
chronological order :

1. Fatawa-i- Jahandari

2. Prithviraja-Raso

3. Kitab-ul-Hind

4. Tabaqgat-i-Nasiri

Select the correct answer from the codes given
below.

Which among the following became the first Arab
Nation to Iauncl) the Mars Mission in July, 2020 ?
(a) Saudi Arabia

(b) Kuwait

(c) United Arab Emirates

(d) Qatar

Who was the ruler of Golkonda when Aurangzeb
seized the fort of Golkonda in 1687 ?

(a) Abul Hasan Qutb Shah
(b) Sikandar Adil Shah

(c) Ali Adil Shah 11

(d) Shayasta Khan

Which of the following neighbouring countries of
India has banned free internet for social media
in July, 2020 ?
(a) Nepal

(c) Myanmar

(b) Bhutan
(d) Bangladesh

Which of the following statement/s is/are correct ?
1. Akbar tried to fix the age of marriage for
boys and girls.

2. Akbar gave freedom to girls to marry at their
own will and not under parental pressure.

Select the correct answer using the codes given
below.

Codes :
(a) Only 1
(c) Both 1 and 2

(b) Only 2
(d) Neither 1 nor 2
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38.

39.

40.

41.

Which of the following statement/s about ‘India

Ideas Summit, 2020’ is/are correct ?

1. It was organised by US — India Business
Council virtually on 2279 July, 2020.

2. The theme of the Summit was ‘Empowering
India’.

Select the correct answer from the codes given

below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List -1 List -l
(Officer) (Assign Duty)
A. Diwan-i-Tan 1. Look after the office
B. Mustarfi 2. Maintained a proper
list of main events
and firmans
C. Mushrif 3. Look after the Jagir
and Salaries
D. Vakianvis 4. Examine the income-
expenditure of State
Codes :
A B cC D
(a) 2 4 1 3
(b) 3 4 1 2
(c) 1 3 2 4
(d) 4 1 2 3

The Uttar Pradesh Cabinet has approved on 20t
July, 2020 to establish a National Law University at
which of the following cities ?

(a) Kanpur (b) Lucknow

(c) Gorakhpur (d) Prayagraj

Which of the following is NOT correctly matched ?

(a) Shaikh Moinuddin Chishti — Ajmer
(b) Shaikh Burhanuddin

Gharib — Daulatabad
(c) Shaikh Mohammad

Hussaini — Gulbarga
(d) Shaikh Nizamuddin Auliya — Multan

Indian Minister of Youth Affairs and Sports
announced on 25t July, 2020 that in 2021 fourth
‘Khelo India Youth Games’ will be hosted by

(a) Haryana (b) Uttar Pradesh

(c) Karnataka (d) Maharashtra
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47,
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Which of the following Mughal period canals, was
constructed by restoring the Rajabwah of Firyz
Shah ?

(a) Shekhnu-Ni
(c) Nahr-i-Bihisht

(b) Shahab Nahr
(d) Nahr-i-Agra

Which of the following Indian Football Club
became country’s first ever football club to feature
on NASDAQ billboards in New York's Time Square
on 29t July, 2020 ?

(a) East Bengal

(b) Churchill Brothers

(c) Mohan Bagan

(d) Bengaluru Football Club

Who among the following was the author of the
book ‘Kitab-i-Nauras’ ?

(a) Ibrahim Adil Shah 11

(b) Ali Adil Shah

(c) Quli Qutab Shah

(d) Akbar li

The first ‘Kisan Rail of India started its journey on
8 August, 2020 between which of the following
two stations ?-

(a) Ghaziabad and Howrah

(b) Devlali (Maharashtra) and Danapur (Bihar)
(c) Nasik and New Delhi

(d) Nasik and Ahmedabad

In which of the following districts of U.P. a major
solar power plant was established in collaboration
with France in 2018 ?

(a) Agra

(c) Deoria

(b) Ballia
(d) Mirzapur

Which of the following is NOT correctly matched ?

(Summit) (Place)
(a) East Asia Summit, 2020 - Singapore
(b) G-20 Summit, 2019 — Osaka
(c) G-7 Summit, 2019 — Biarritz
(d) EastAsia Summit, 2019 — Bangkok

How many more ‘Ramsar Sites’ were added to
Uttar Pradesh in January, 2020 ?

(a) 3 (b) 6

(c) 9 (d) 12
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49.

50.

51.

52.

53.

54.

55.

In which of the following States of India the
first-ever E-Lok Adalat was started during the
COVID-19 period ?
(a) Uttar Pradesh
(c) Chhattisgarh

(b) Maharashtra
(d) Bihar

Which of the following tribes is NOT the native to the
Andaman and Nicobar Islands of India ?

(a) Halchu (b) Rengma

(c) Onge (d) Shompen

With reference to the detailed report of Tiger

Census 2018 released by Government of India

in July 2020, which of the following Statement(s)

is/are correct ?

1. India has 70% of total global tiger's
population.

2. Nearly 30% of India’s tigers live outside
tiger reserve.

Select the correct answer from the codes given

below.

Codes :
(a) 1 only

(b) 2 only
(c) 1 and 2 both

(d) Neither 1 nor 2

Which of the following rivers is a Trans-Himalayan
river ?

(a) Jhelum
(c) Ganga

(b) Sutlej
(d) Ravi

Which among the following hosted ‘Global
Vaccine Summit’ on 4th June, 2020 ?

(a) United Kingdom

(b) United States of America

(c) India

(d) China

Which of the following is NOT correctly matched ?
(Tribes) (Location)

(a) Angamis - Nagaland

(b) Birhors - Jharkhand

(c) Khas - Arunachal Pradesh

(d) Todas —  Tamil Nadu

‘Sarthak’ launched in August 2020 by Ministry of
Defence, Government of India relates to which
of the following ?

(@) Smart Bomb

(b) Rocket Launcher

(c) Offshore Patrol Vessel

(d) Light Combat Aircraft
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56.

57.

58.

59.

Match List - | with List — Il and select the correct
answer using the codes given below the lists -

List -1 List -l
(Lake) (Location)
A. Sala Lake 1. Arunachal Pradesh
B. Badkhal Lake 2. Haryana
C. Loktak Lake 3. Manipur
D. Kaliveli Lake 4. Tamil Nadu
Codes :
A B C D
(@ 1 2 3 4
(b) 2 1 3 4
(e)z-4 3 2 4
(d) 1 4 2 3

Which of the following State Governments has
started ‘Pashu-Kisan Credit Card’ Scheme in year
2020 ?

(a) Gujarat
(c) Punjab

(b) Haryana
(d) Rajasthan

Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R):

Assertion (A) : Ahmedabad is the largest centre
of cotton textile industry in India.

Reason (R) : Ahmedabad is located in Major
cotton growing region of India, so it has no
problem of raw materials.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A)is true but (R) is false

(d) (A)is false but (R) is true

On 27t July, 2020 Prime Minister of India virtually
inaugurated three new Indian Council of Medical
Research (ICMR) high-end testing laboratories for
COVID-19 test at which of the following places ?

(@) New Delhi, Kolkata, Chennai
(b) Kolkata, Noida, Mumbai
(c) New Delhi, Kolkata, Mumbai

(d) Chennai, Delhi, Mumbai
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60. Which one of the following is the youngest

61.

62.

63.

64.

mountain range of India ?
(a) Himadri Range (b) Aravalli Range
(c) Western Ghat (d) Vindhya Range

Which of the following Airports in Uttar Pradesh
has been granted International Status on

24t June, 2020 by Union Cabinet of India ?
(a) Agra Airport

(b) Prayagraj Airport

(c) Gorakhpur Airport

(d) Kushinagar Airport

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List -1 List -1l
(National Parks) (States)
A. Indravati 1. Jharkhand
B. Mollem 2. Haryana
C. Kalesar 3. Goa
D. Betva 4. Chhattisgarh
Codes :
A B C D
(a) 4 3 2 1
(b) 4 2 3 1
(c) 4 1 3 2
d) 3 4 2 1

Which of the following countries was NOT elected
in June 2020 as a non-permanent member of
United Nations Security Council for the year
2021-22 ?
(a) Ireland
(c) Mexico

(b) Norway
(d) Canada

Which of the following are NOT correctly matched ?

(Mineral) (Mining City)
1. Copper - Chitradurga
2. Iron ore - Ballari
3. Manganese - Bhilwara
4. Bauxite - Katni

Select the correct answer from the codes given
below.

Codes :
(a) 1and 2 (b) 2and 3
(c)1and 3 (d) 2and 4
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61.
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65. Consider the following statements about New
National Education Policy approved by Union
Cabinet of India on 29t July, 2020 :

1. It was drafted by a Committee headed by
Dr. K. Kasturirangan.

2. It will replace the previous Education Policy
which has been followed since last 38

years.
Select the correct statement(s) from the codes
given below.
Codes :
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

66. Valley of Kashmir is situated between
(a) Kangara and Dhauladhar ranges
(b) Pir-Panjal and Himadri ranges
(¢) Mahabharat and Dhauladhar ranges
(d) Pir-Panjal and Mahabharat ranges

67. Which of the following Indian States/Union
Territories launched Electric Vehicle Policy on
7! August, 2020 ?
(a) Madhya Pradesh (b) Uttar Pradesh
(c) Delhi (d) Tamil Nadu

68. Considerthe following tributaries of River Yamuna
and arrange them from West to East :
1. Betwa
2. Ken
3. Sindh
4. Chambal
Select the correct answer from the codes given
below.

Codes :
(@) 4,3,1and 2 (b) 1,2,3and 4
() 3,2,1and 4 (d) 2,3, 1and 4

69. Which of the following Indian Foundations has
received the Food Vision 2050 prize in August
2020 ?

(a) Smile Foundation
(b) Naandi Foundation
(c) Adani Foundation
(d) Reliance Foundation

70. Which one of the following is NOT correctly
matched ?
(Country) (Iron-Ore
Producing Area)
(a) Kazakhstan - Karaganda
(b) Ukrain - Krivoy Rog
(c) Germany - Normendy
(d) France - Pyrenees
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74.

75.

First ever containership from Kolkata Port to
Agartala was sent through which one of the
following Ports of Bangladesh in July 2020 ?

(a) Benapole

(b) Maloti

(c) Payra

(d) Chattogram (Chittagong)

In which of the following regions of the world, the
production of citrus fruits is well developed ?
(@) Monsoon regions

(b) Tropical high lands regions

(c) Mediterranean regions

(d) Equatorial regions

Who among the following has been awarded with
the ‘Life Time Excellence’ Award in Earth System
Science in July 2020 by Ministry of Earth Sciences,
Government of India ?
(a) S. Suresh Babu

(c) S. P. S. Kushwaha

(b) P.L.N. Raju
(d) Ashok Sahni

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List -1 List -1l
(Tropical cyclones) (Country)
A. Baguios 1. Australia .
B. Hurricanes 2. China
C. Typhoons 3. Philippines
D. Willy-Willies 4. United States
of America
Codes :
A B C:: D
(@ 3 4 1 2
(b) 3 4 2 1
(c) 2 3 4 1
(d) 2 1 3 4

With reference to Eutrophication, which of the

following statement(s) is/are correct ?

1. It decreases dissolved oxygen of water.

2. Itis a phenomenon of nutrient enrichment
of a water body.

Select the correct answer from the codes given

below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
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76. Darling range is situated along which of the | 76. =it TG ST % Freafefad qef § @ ﬁé

i f }I%ving coasts of Australia ? W FafeRrd § ?
é orth-Eastern Coast (a) STHI-g&f qe
(b) Southern Coast (b) gferft @
(c) Eastern Coast (c) Tff a2
(d) South-Western Coast (d) cfaoft-ufyenft ae
77. Arrange the following events in chronological | 77. fimfufea IS I Ik TR o HIATHY
order of their commencement : =aferd Fif
I. Project Tiger . 999 IFR
Il. Proje_ct Elephant Il. Srie wmeft
ll. Wildlife Protect Act - ; 3
IV. Biological Diversity Act . F=rsfte Eeeor stfrform
Select the correct answer using the codes given V. 39 fafeear srffem
below. el fed T e @ v s gf |
Codes : :
(@ 1,1, 1, v (b) 11, 1, IV, 1 (@) I, 11, 1, v (b) 1, 1, 1V, 1l
(c) 1L, 1, 1, IV (d) 1,1V, 1, () HL, 1,1, 1V (d) 1, v, 1,1
78. Which of the following ocean currents is | 78, fr=fafed & & SH-a1 wemma uw i mamamR
associated with Indian Ocean ? T TR @ 7
(a) Florida current (b) Canary current (a) TAINET ¥R (b) AR Ry
(c) Agulhas current (d) Kurile current (c) FITETE °r (d) TS aw
79. The movement of nutrient elements through the | 79, T TR 03 % R gesl @ B Qv
various components of an ecosystem is called qedl TSI HEATAT 2
(a) Bio-geo-chemical cycle (a) SF-9-wEH =%
(b) Bio-geological cycle (b) Sa-fifes =1
(c) Ecological succession (c) TTfeafeeh 3rgshn
(d) Biological cycle (d) St =36
80. Match List — I with List — Il and select the correct 80. ¥ - I =l g - 11 & gAfea i e RIS
answer using the codes given below the lists : frer o3 T e @ v 3= g
List -1 List -1l -1 g -1l
(Ethnic Group) (Country) (T R) (29)
A. Jews 1. Egypt A. q@ 1. fim
B. Teda 2. Iran B. ¢g1 D
C. Beja 3. Libya C. s 3. citfern
D. Lur 4. Israel D. W 4. IR
Codes : :
A=-BIC: D % A:-B - C -D
() 1os 2008 4 @) ~32e2 53 - 4
IR S e (bt . o o3
€y a4 4~ gty €. 4 1 3.9
(d) 4= =350 = 2 (d). 4.3 1 2
81. Where was the Mitti Bachao (Save the Soil) [ 81. wra & furdt s=naf smcrem wat § wwew B3 ?
Movement started in India ? (a) UM, FERT
(a) Thane, Maharashtra
(b) Mysore, Karnataka (b) ﬁﬁ,{’ Fieh
(c) Darbhanga, Bihar (c) gvrm, fagr
(d) Hoshangabad, Madhya Pradesh (d) BIeATETE, HETTew




83.

84.

85.

86.

87.

88.

Which one of the following is NOT correctly
matched ?

(Country) (Capital)
(a) Morocco — Rabat
(b) Tunisia —  Tunis
(c) Algeria —  Algiers
(d) Cape Verde — Bamako

Without green house effect, the average
temperature of earth surface would be
(a) 0°C (b) —18°C

(c) 5°C (d) —20°C

Postmasburg and its adjacent areas of South
Africa is major producer of which of the following

minerals ?
(a) Uranium (b) Bauxite
(c) Manganese (d) Mica

The entire sequence of communities that

‘successively change in a particular area are

called

(a) Ecological succession
(b) Sere

(c) Community dynamics
(d) Pyramid of biomass

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List -1 List -1l

(Mountain) (Country)
A. Atlas 1. France/Spain
B. Kalimanjaro 2. Ecuador
C. Chimbrozo 3. Tanzania
D. Pyrenees 4. Morocco
Codes :

A B C D

(a) 4 3 2 1
(b) 4 1 2 3
() 2 3 4 1
@=1 3 4 2

Which of the following natural substances
contains iron (Fe) ?
(a) Chlorophyll

(c) Keratin

(b) Collagen
(d) Myoglobin

In Malaysia, the ‘Kinta Valley’ is famous for
(a) Rubber Production

(b) Tea Production

(c) Tin Production

(d) Coffee Production
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89. Change in the base sequence within a gene is

90.

91.

92.

93.

94.

95.

called
(a) Mutation (b) Cloning
(c) Fusion (d) Breeding

The equator does NOT pass through which of
the following Countries ?

1. Gabon

2. Somalia

3. Equatorial Guinea

4. Rawanda

Select the correct answer using the codes given
below.

Codes :
(a) 1and 4 (b) 2and 4
(c) 2and 3 (d) 3and 4

Which of the following is used in fire alarm ?
(a) Photo cell (b) Water

(c) Solar cell (d) None of the above
Which Part of the Constitution has the provisions
for Panchayati Raj System ?

(a) IX (b) VI

(c) (d) IVA

Which of the following polymer is NOT a
thermoplastic ?
(a) Teflon

(c) Polystyrene

(b) Neoprene
(d) Polythene

When was the third tier added to Indian Federal

System ? :
(a) 1990 (b) 1991
(c) 1992 (d) 1993

In human body, the digestion of protein begins in
which of the following organs ?

(a) Liver

(b) Mouth

(c) Small intestine

(d) Stomach
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96.

97.

98.

99.

100.

101.

Which of the following is NOT possible by a law of
Parliament under Article 3 of the Constitution ?

(a) Formation of new States

(b) Alteration of areas of States

(c) Alteration of boundaries of States
(d) Admission of new States

Use of polished rice in human diet causes
following diseases
(a) Rickets

(c) Goitre

(b) Anemia
(d) Beriberi

In the removal of which of the following officials

does the Parliament NOT play any role ?

1. Judges of the High Court

2. Judges of the Supreme Court

3. Chairman of the Union Public Service
Commission

4. Comptroller and Auditor General of India

Choose the correct answer from the codes given

below.

Codes :

(@) 1and 2 only

(c) 1,2 and 3 only

(b) 3 and 4 only
(d) 3only

Which of the following vitamins is mainly responsible
for blood coagulation in human being ?
(a) Vitamin K (b) Vitamin E
(c) Vitamin A (d) Vitamin C

The superintendence, direction and control of all
elections to the Panchayats are vested in

(a) The Governor :

(b) The Election Commission of India

(c) The District Panchayat Raj Officer

(d) The State Election Commission

Consider the following statements about human
brain :

1. The brain is responsible for regulating the

heart beat.

2. ltis responsible for balancing the body.
Select the correct answer using the codes given
below.

Codes :
(a) Only 1 is correct
(b) Only 2 is correct

(c) 1 and 2 both are correct

(d) Neither 1 nor 2 is correct
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102.

103.

104.

105.

106.

Which one of the following pairs is NOT correctly
matched ?

(a) Interstate Council —  Article 263
(b) Finance Commission -  Article 280
(c) Administrative Tribunal -  Article 323A
(d) Union Public Service -  Article 315

Commission

Which of the following substances is obtained
from a tree ?
(a) Asafoetida
(c) Tincal

(b) Bitumen
(d) None of the above

Which Article of the Indian Constitution describe
the Central Vigilance Commission ?

(a) Article 268 (b) Article 280
(c) Article 276 (d) None of the above

Given below are two statements, one is labelled as
Assertion (A) and other as Reason (R):

Assertion (A) : Invert sugar is more sweeter than
sucrose.

Reason (R) : Invert sugar is obtained by the
hydrolysis of sucrose.

Select the correct answer from the codes given
below. ,

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A)is true but (R) is false

(d) (A) is false but (R) is true

Consider the following Chairpersons of the
National Women Commission :

1. Jayanti Patnaik

2. Mamta Sharma

3. Dr. Girija Vyas

4. Dr. Poornima Advani

Select the correct chronological order of their
appointment from the codes given below.
Codes :

(@) 2,1,3and 4
(¢)1,3,4and 2

(b) 2,3,1and 4
(d) 1,4,3and 2

102.
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107.

108.

109.

110.

111.

Match List — | with List — Il and select the correct
answer from the codes given below the lists :

List-1 List-1i
(Metal) (Property)
A. Sodium 1. Good conductor
of electricity
B. Mercury 2. Liquid at room
temperature
C. Silver 3. Poor conductor of heat
D. Lead 4. Can be easily cut with knife
Codes :
A B C D
@ 2 3 1 4
)y 1 4 3 2
©. "4 2. 1.3
d 4 1. 12 3

Which region of the country conferred special
status under Article 371-J of the Constitution of
India ? ;

(a) Nagaland

(b) Hyderabad and Karnataka

(c) Maharashtra and Gujarat

(d) Ladakh

Which one of the following substances is NOT
synthetic ?
(b) Lexan

(a) Fibroin
(c) Neoprene (d) Teflon

Which one of the following is NOT correctly
matched ?

(a) Fundamental Duties - PatiVA
(b) The States -  PartVi

(c) Attorney General of India -  Part XIll
(d) Services under the - Part XV

Union and States

Match List — | with List — Il and select the correct
answer from the codes given below the lists :

List -1 List - H

(Substance) (Use)
A. Blue Vitriol 1. Artificial rain
B. Eosin 2. Fungicide
C. Silver iodide 3. Redink
D. Zinc phosphide 4. Rodenticide
Codes :

A B C D

@ 2 3 4 1
b--2 -1 3 . 4
(e)es2s =37 il 4
(dy=—"2=-:-4: 1 3
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112:

113.

114.

115.

116.

Which is the largest Committee of the Indian
Parliament ?

(a) Public Account Committee

(b) Estimates Committee

(c) Committee on Public Undertakings

(d) Committee on Petitions

According to the Report released by NITI Aayog
in December 2019 on ‘Sustainable Development
Goals India Index 2019-20’, the Uttar Pradesh is
grouped under which of the following categories ?

(a) Aspirant

(b) Performer

(c) Front runner

(d) Achiever

Which Articles of Indian Constitution are related

to citizenship ?
(b) Article 4 to 11

(a) Article 3to 10
(c) Article 5 to.11 (d) Article 6 to 11

Which of the following cities of Uttar Pradesh
is/are covered under the ‘Heritage City Development
and Augmentation Yojana (HRIDAY)' ?

1. Varanasi

2. Mathura

3. Prayagraj

4. Ayodhya

Select the correct answer from the codes given
below.

Codes :

(a) 1 only (b) 3only

(c) 1and 2 (d) 1,2,3and 4

Given below are two statements, one is labelled

as Assertion (A) and the other as Reason (R) :

Assertion (A) : The nature of Indian Political

System embodies the elements of ‘continuity and

change’.

Reason (R) : The Indian Political System

contains the elements of the following political

system such as the modern style, the traditional

style and saint style.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

112.
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116.
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117. What should be Total Fertility Rate (TFR) of a
population in order to reach at the replacement
level of fertility ?

(b) 1.6

(a) 1.0
(c) 21 (d) 2.3

118. What can be the minimum strength of Council of
Ministers including Chief Minister in the States ?
(a) 10 (b) 12

(c) 13 (d) 14
119. Which of the following methods has/have been
used to estimate poverty in India ?

1. Head Count Ratio

2. Calorie intake

3. Household Consumption Expenditure

4. Per Capita Income

Select the correct answer from the codes given
below. : :
Codes :
(@) 2and 3
(c) 3 only

(b) 1,2and 3
(d) 1,2,3and 4
120. The Supreme Court of India enunciated the doctrine

of “Basic Structure of the Constitution” in

(a) The Golaknath Case in 1967

(b) The Keshavanand Bharati Case in 1973
(c) The Shankari Prasad Case in 1951

(d) The Sajjan Singh Case in 1965

With reference to ‘Ayushman Bharat Yojana’ which
of the following statement(s) is/are correct ?
1. This Yojana provides free health insurance
of Rs. five lakh per person.
2. The expenses incurred in this Scheme
(Yojana) is shared between the Centre and
State in 60 : 40 ratio.

Select the correct answer from the codes given
below.

Codes :
(a) 1 only
(c) Both 1and 2

121.

(b) 2 only

(d) Neither 1 nor 2
122. Which one of the following is NOT correctly
matched ?

(a) Article 39 A

Equal Justice and free
legal aid

Organisation of Village
Panchayats

Uniform Civil Code
Separation of Judiciary
from Executive

A -23-

(b) Article 40

(c) Article 44
(d) Article 48
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123.

124.

125.

126.

The main objective of sustainable tourism is

(a) To increase the number of tourists

(b) To manage mass scale tourism and small
scale travel

(c) To manage tourism and environment while
maintaining cultural integrity and ecological
processes

(d) None of the above

Consider the following statements in the context

of Attorney General of India :

1. The President shall appoint a person who
is qualified as to be appointed a Judge of
Supreme Court.

2. The Attorney General shall receive such
remuneration as the Parliament may
determine.

Select the correct answer using the codes given

below.

Codes :

(a) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

With reference to the ‘HAUSLA — 2018’ which of
the following statement(s) is/are correct ?

1. ‘HAUSLA - 2018’ was organised by the
Ministry of Women and Child Development,
Government of India in New Delhi.

2. It was National Festival for Children of Child
Care Institution.

Select the correct answer from the codes given
below.

Codes :

(a) 1 only

(c) Both 1and 2

(b) 2 only
(d) Neither 1 nor 2

Given below are two statements, one is labelled

as Assertion (A) and the other as Reason (R) :

Assertion (A) : Indian federalism is called ‘Quasi-

federal'.

Reason (R) : India has an independent judiciary

with power of Judicial Review.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true
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128.

129.

130.

131.

7.

India aims to achieve the 5 trillion dollar
economy by

(a) 2022 (b) 2024

(c) 2026 (d) 2030

Joint sitting of Lok Sabha and Rajya Sabha can
take place to resolve deadlock over

(a) Ordinary Legislation

(b) Money Bill

(c) Constitutional Amendment Bill
(d) Appropriation Bill

Human Development Report 1997 introduced
the concept of Human Poverty Index (HPI) but
Human Development Report replaced it with
Multidimensional Poverty Index (MPI) in the
year

(a) 1999
(c) 2010

(b) 2005
(d) 2015

Which of the following gave legal basis to extra-
ordinary powers exercised by the Government
of India during Lockdown ?

1. Mental Health Care Act, 2017

2. Disaster Management Act, 2005
3. Enemy Property Act, 1968

4. Epidemic Diseases Act, 1897

Select the correct answer from the codes given
below.

Codes :
(@) 1,2and 3 (b) 2,3and 4
(c) 2and 4 (d) 1,3and 4

Given below are two statements, one is labelled

as Assertion (A) and other as Reason (R) :

Assertion (A) : Government has launched the

‘National Infrastructure Pipeline (NIP)’ for period

of 2020-30.

Reason (R) : The objective of NIP is to provide

equitable access to infrastructure for all.

Select the correct answer using the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

127.

128.

129.

130.

131.
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(b) 2024
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(a) M= fadas

(ORERELRED

(c) T GuieE fadaw
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foemra featé 1997 & g Y Toft, @ifee W T
e 3 38 sgamar T gueis (w.h.a.) g
FrafeRaa & & fora o o gfeeenfia s fean 2
(a) 1999 (b) 2005

(c) 2010 (d) 2015

ARSI & G WA TN o GRI T STETIROT
vifeat @1 fafte smam frafeRed & @ fer wrE
T I g3 ?

1. T oY W T, 2017

2. fesmee A9wie wwe, 2005

3. y-wFara ar ufdt sl wwe, 1968

4. tfishie fesfise wwe, 1897

I fed ™ % @ wE W g |

%
(@) 1,23 3
(c) 2 3R 4

(b) 2, 33 4
(d) 1,33 4

T2 Q % fed T E, Rl @ s @) we (A) qen

T8 I HIOT (R) a1 TR

HUA (A) U GIETTd IIEIATEA (T3 )

wgmzozo-soﬁmﬁr%%qm%m

TR |

SROT(R) : TH.3773. 9. <1 3239 At &) w9 gfara

gfoem s HO R |

I fd ™ g2 A e s ghT |

Fe:

(a) (A) @ (R) Q1 @ § 3R (R), (A) i w&t
SRSAT BT 3

(b) (A) 74T (R) QI T & 9% (R), (A) I Gt
STEAT T8 T &

(c) (A) T R W (R) T B

(d) (A) T § W (R) W 2




132.

133.

134.

135.
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Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List -1 List -1l
(Article) (Provision)
A. Article 61 1. Removal of Deputy
Chairman of Rajya
Sabha
B. Article 67(b) 2. Impeachment of
President
C. Article 94 3. Removal of Vice-
President
D. Article 90 4. Removal of Speaker
Codes :
A B C D
(@ 2 4 3 1
(b) 3 2 4 1
(c) 2 3 4 1
(d) 4 1 3 2

With reference to the World Bank’s Ease of

Doing Business Report, which of the following

statement(s) is/are correct ?

1. In Ease of Doing Business Report 2020,
India’s rank is 63.

2. India ranking for Ease of Doing Business in
the year 2019 was 77.

Select the correct answer using the codes given
below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

On which of the following dates, Constituent
Assembly of India adopted the National Flag ?

(a) 22 January, 1950
(b) 24 January, 1950
(c) 22 July, 1947
(d) 22 July, 1948

Limit of investment for outstanding corporate bond
for Foreign Portfolio Investment in Union Budget
2020-21 has been extended upto
(@) 9% (b) 10%
(c) 12% (d) 15%

In which of the following places the Bio-technology
Park is located in Uttar Pradesh ?

(a) Kanpur (b) Ghaziabad
(c) NOIDA (d) Lucknow

132.

133.

134.

135.

136.
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(a) 22 SHalt, 1950

(b) 24 SEdt, 1950

(c) 22 s, 1947
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138.
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Match List — | with List — Il and select the correct
answer from the codes given below the lists :

List - 1| List -1l
(Scheme) (Launching Year)
A. P. M. Jan Arogya Abhiyan 1. 2015
B. P. M. Vaya Vandan Yojana 2. 2018

C. P. M. Rojgar Protsahan Yojana 3. 2017

D. Swachh Bharat Abhiyan 4. 2014
Codes :
A B C D
(@ 2 3 1 4
(b) 1 2 3 4
() 2 =4
(d)es2 4 - .31

The Development, Monitoring and Evaluation
Office, which monitors the progress of long term
policies in an attached office under

(a) Prime Minister Office

(b) Ministry of Home Affairs

(c) Cabinet Secretariat

(d) NITI Aayog

Which one of the following is NOT a green house
gas found naturally in the atmosphere ?

(a) Nitrogen oxide (b) Carbon dioxide
(c) Methane (d) Ozone

Which of the following statements is NOT correct
for National Pension Scheme for Retail Traders/
Shopkeepers and Self-employed persons ?

(@) Those who are in age groups of 18 to 40
years are eligible.

(b) Their annual turnover should not exceed
1.5 crore rupees.

(c) National Pension Scheme’s member are
also eligible.

(d) It has a monthly minimum assured pension
of Rs. 3000.00.

With reference to the programme “NIDHI” which
of the following statement(s) is/are correct ?

1. The programme of “NIDHI” was started for
students to begin start ups.

2. Its aim is to financially support 20 students
for start up in each year.

Select the correct answer from the codes given

below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

137.

138.

139.

140.

141.
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143.

144.

145.

146.

Generally, environment can be classified as
following categories. Which among the following
is NOT a part of such category ?

(a) Operational Environment

(b) Physical Environment

(c) Cultural Environment

(d) Biological Environment

Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) :

Assertion (A) : The Union Budget 2020-21
has focused on Rural Development with aim of
doubling farmer income.

Reason (R) : The 16 Action points announced
in the budget is centred around agriculture,
irrigation and rural development.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

The concept of ‘Ecological Transition’ was first
used by

(a) Elton
(c) Berkeley

(b) Bennett
(d) Ratzel

The Travel and Tourism Competitive Index (TTCI)
is released by

(a) World Bank

(b) International Monetary Fund

(c) World Economic Forum

(d) United Nations Development Programme

Which of the following are the impacts of Global
Warming ?

1. Rise in sea level

2. Meiting of giaciers

3. Spread of diseases

4. Bleaching of Coral reefs

Select the correct answer using the codes given
below.

Codes :
(a) 1,2 and 3 only
(c) 1, 3and 4 only

(b) 2 and 3 only
(d) 1,2,3and 4

142.

143.

144.

145.

146.
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qrfcfeufesh! Hshuor FAAURUT 1 Ga9UH T forar
e
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148.

149.

150.

Consider the following events and arrange them
in chronological order :

1. Establishment of NABARD

2. Self Help Group Bank Linkage Programme
3. Kisan Credit Card Plan

4. Establishment of Regional Rural Bank

Select the correct answer from the codes given
below.

Codes :
(a)4,1,2,3 (b) 4,2, 3,1
(c)1,2,3,4 (d) 4,321

Arrange the following events in chronological
order and select the correct answer from the
codes given below :

I. Rio Earth Summit

Il. Publication of Brundtland Commission Report
Ill. Enforcement of Montreal Protocol
IV. Publication of ‘The Limit to Growth’ Report
Codes :
(@ LIV, u,
(c) IV, L, 11, 1

(b) IV, 11, 1, 1
() IV, 1,0, 1

With reference to the Skill India Campaign, which
of the following statement(s) is/are correct ?
1. Prime Minister had launched the Skill India
Campaign in July 2015.
2. The main objective of this Campaign
was to train India’s Youths in information
technology.

Select the correct answer from the codes given
below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor2

The National Chambal Sanctuary does NOT fall
in which of the following States ?

(a) Uttar Pradesh (b) Madhya Pradesh
(c) Haryana (d) Rajasthan
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Instruction for Question Nos. 21 to 25 :
Read the following passage carefully and answer the following questions that follows :

Education is a device for helping @ man to grow to his full stature. It enables him to realize his nature both mentally
and spiritually and in that realization to become all that he has it in him to be. Itis to the child what perfect gardening
is to the tree, a help so to grow that it may develop its own personality. A good gardener helps each plant to put
forth that essential quality of its own that differentiates it from all other plants and makes it a thing of use and beauty
in the world. The good education performs a similar office for the human being.

To the man of trained faculties and developed tastes the world becomes literally a larger place, larger and the more
exciting. He is able to see in it more beauty, more variety, more scope for his sympathy and understanding than
he saw before. So far as the understanding of the universe is concerned while education diminishes certainly of
what is, it widens his sense of the possibilities of what may be and transforms the world from humdrum scene of
workshop, factory and office to a universe of mystery and treasure house of beauty.

21. Education enables a man 22 \What an educated man is able to see in the world ?

(a) To realize his nature both mentally and spiritually (a) Mountains, hills and bushes
(b) To become a gardener (b) Roads, meadows and inns ,
(c) More beauty, more variety, more scope for his
(e} To berphysically stiong sympathy and understanding than he saw before

(d) To become a successful person (d) Rivers, lakes and rocks




23.

24.

25.

26.

27.

28.

The passage “universe of mystery and a treasure

house of beauty” means

(a) Helping a man to develop the best in him

(b) Universe full of mysterious and beautiful things

(c) Education of universe makes a man wise
and beautiful

(d) Education of universe makes him bounteous
and large hearted

What is the work of a good gardener ?

(a) To help each plant to take water

(b) To help each plant to put forth the essential
quality of its own

(c) To help each plant to grow

(d) To help each plant to be green and healthy

The world becomes a larger place and the more

exciting

(a) For a wrestler

(b) For a thief

(c) For a cheat

(d) For a man of trained faculties and developed
tastes

In the sentence, “he finished the job at one go”,
the word ‘go’ is

(a) Verb

(b) Noun

(c) Adverb

(d) Adjective

Change the sentence “I never eat meat, he
explained” into indirect speech.

(@) He explains that | eat meat

(b) He explained to eat meat

(c) He explained that he never ate meat

(d) I explained that he never eats meat

The word ‘rendezvous’ means

(a) Endeavour

(b) A place appointed for a meeting
(c) A secret place

(d) Adventure

29.

30.

31.

32.

33.

34.

35.

RFL - II

Which of the following word is wrongly spelt ?
(a) Correspondence

(b) Conscience

(c) Occurrence

(d) Conveneince

SN

Change the sentence “let it be done atonce” into
active voice.

(a) Letit happen at once

(b) Do it atleast once

(c) Let it occur at once

(d) Do it at once

Punctuate the following sentence :
“Whatever is is right.”

(@) Whatever is. Is right ?

(b) Whatever. [s is right.

(c) Whatever is, is right.

(d) Whatever, is, is right

Choose the correct conjunction from the following
options to complete the sentence

“He got he was ill”.
(a) Until

(b) Because

(c) Although

(d) If

“White elephant” means

(@) Arare object

(b) An uneconomical possession
(c) An object that does not exist
(d) A useful possession

Choose the correct synonym of the word
‘abominable’.

(a) Disgusting

(b) Cold

(c) Abusive

(d) Hot

‘In the pipeline’ means

(@) In the process of being developed
(b) Partake

(c) Pinnacle

(d) Prions




37.

38.

39.

40.

41.

42.

43.

Which of the following is NOT an interpersonal
barrier in organizational communication ?

(a) Ethnocentrism

(b) Semantics

(c) Ingratiation

(d) Impression management

Highest degree of communication openness is
found in

(a) Informal communication

(b) Meta-communication

(c) Direct communication

(d) Indirect communication

Which one of the following behaviour is the most
appropriate for diffusing verbal abuse of co-workers ?
(a) Become defensive

(b) Get into debate

(c) Refuse to accept harmful language

(d) Keep aggressive body language

‘Proxemics’ is related to

(a) Neutral Communication

(b) Unidirectional Communication
(c) Verbal Communication

(d) Non-verbal Communication

The key element for effective interpersonal
communication is

(a) Abstraction

(b) De-sensitization

(c) Active listening

(d) Ego-centric reinforcement

Which one of the following is related with
organisational ecology ?

(a) Centralized Communication

(b) Upward Communication

(c) Lateral Communication

(d) Downward Communication

Smita reckoned sixteenth from the top and
twenty-ninth from the bottom among those who
have passed an examination. Six students did
not appear in the examination and five failed in
it. How many students were there in the class ?
(a) 40 (b) 44

(c) 50 (d) 55

Ravi started walking towards East. After moving
a distance of 1 km, he turned Southwards and
walked 5 km. Again he turned to East and walked
2 km. Finally he turned to the North and walked
9 km. How far is he from his starting point ?

(@) 7 km (b) 5km

(c) 4 km (d) 3 km
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44,

45,

46.

47.

48.

Which one of the following diagrams properly
represents the relationship among ‘Body’, ‘Ear’,
‘Mouth’ ?

(@)

2 @
Four men A, B, C, D and four women W XY, 2
are sitting around a table facing each other. If
i. No two men or women are sitting together.
ii. Wis to the right of B.
iii. Y is facing X and is to the left of A.
iv. Cis to the right of Z.

Then who are the two persons sitting adjacent
toD?

(a) Wand Y
(c) Xand Z

QO

(b) Xand W
(d) Wand Z

In a certain code, 15789 is written as XTZAL
and 2346 is written as NPSU. How will 23549 be
written in that code ?

(a) NPTUL (b) PNTSL
(c) NPTSL (d) NBTSL
Find the missing number in the following figure :
04 05 06
02 03 07
01 08 03
21 98 ?
(a) 94 (b) 88
(c) 92 (d) 86

Which one of the following refers to the ‘framing

effect’ in the context of decision making ?

(a) The way in which options are presented
influence the selection of option

(b) Choosing the option having highest
expected utility

(c) Akind of set points of thought in wrong
direction

(d) Looking for evidences that will confirm what
are currently believes

44,

45.

46.

47.

48.
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50.

51.

52.

53.

54.

55.

. The tendency of members in a highly cohesive

group to lose critical evaluative decision
making capabilities is called

(a) Group think

(b) Assertiveness

(c) Group polarization

(d) Cognitive dissonance

The decision making style that “overly concerned
with keeping everyone happy” is called

(a) Conceptual style

(b) Directive style

(c) Behavioural style

(d) Analytical style

Which one of the following is NOT a rule for estimating
the likelihood of outcomes of any decision ?

(a) Assessing utility  (b) Representativeness
(c) Availability (d) Adjustment

In a valid standard form of categorical syllogism,
if predicate term is distributed in the conclusion,
then it must be distributed

(a) in both the premises

(b) in minor premises

(c) in major premises

(d) in none of the premises

Probability is an attribute of
(a) An inductive argument
(b) A deductive argument
(c) Disjunctive proposition
(d) Categorical proposition

Which of the following decision makers are tend
to be good at discovering creative solutions to
the problems ?

(a) Directive style decision makers

(b) Analytic style decision makers

(c) Conceptual style decision makers

(d) Behavioural style decision makers

What number would come in the place of
question mark ?

(b) 84
(d) 66

49.

50.

51.

52.

53.

54.

55.
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56. If'A'is B's sister, ‘C’is B's mother, ‘D’is C’s father,
‘E'is D’s mother, then how isArelated to D ?
(a) Grandfather (b) Granddaughter
(c) Grandmother (d) Daughter

57.  If you write down all the numbers from 1 to 100,
then how many times do you write 3 ?
(a) 20 (b) 11

(c) 21 (d) 10

58. Choose the odd pair of words :

(a) Volume : Litre (b) Pressure : Barometer
(c) Length : Meter (d) Resistance : Ohm

59. Read the following statements -
I. Rama is older than Sonam:.
Il. Poonam is older than Rama.
lll. Sonam is older than Poonam.
If the first two statements are true, then the third
statement is
(a) True
(c) False

(b) Uncertain

(d) None of the above
60. Complete the following series with the correct
option :

3,2,6,8, 18, 40, ?
(a) 70

(c) 72

(b) 71
(d) 75
61. A shopkeeper marks the price of an article 20%
above its cost price. He offers some discount on
the marked price and gains a profit of 8%. Rate
of discount is
(a) 8%

(c) 12%

(b) 10%
(d) 15%

62. If'+' means ‘+’, '~ means %', ‘X’ means ‘+'and '+’

means ~, then6+10-4x 12 +6= 7

(@) - 32 (b) 32

(c)-414 (d) 48

2-2. then the value of - %° g
y x> +y

(b) 2/

(d) 1

63. If L=
X

equal to
(@0

© 3

56.

57.

58.

59.

60.

61.

62.

63.
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65.

66.

67.

68.

69.

<70,

71.

72.

A and B are two sets. A has 10 members and
B has 18 members. A U B = 20. The number of
members in A B will be

(a) 10 (b) 12

(c) 8 (d) 6

The diagonals of a rhombus are 32 cm and
24 cm. Its perimeter will be

(a) 50 cm (b) 60 cm

(¢) 70 cm (d) 80cm

Two variables y and x are related as y = 5x + 4. The

arithmetic mean of x is 10. Arithmetic mean of y
will be

(a) 50 (b) 54
(¢) 29 (d) 46
The mean of first twenty positive even numbers is
(a) 20 (b) 18
(c) 17 (d) 21

Which one of the following is a paralinguistic cue
in communication ?

(a) Facial expression

(b) Gesture

(c) Tonal pitch

(d) Posture

In which type of communication network there is
likelihood of emergence of a group leader but lower
satisfaction among the member of the group ?

(a) Wheel type (b) Circle type

(c) Chain type (d) Barred type

Which of the following is an example of organisational
silence in upward communication ?

(a) Distortion (b) Delay

(c) Filtering (d) Lack of response

Which of the following is NOT a form of positive
listening ?

(a) Diagnostic listening

(b) Reflective listening

(c) Empathic listening

(d) Judgemental listening

Which of the following is NOT a communication
barrier related to noise ?

(a) Perceptual problems

(b) Information overload

(c) Dyadic archetypes

(d) Cultural differences
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73.

74.

75.

76.

77.

In the communication process, successful
transfer of message can be checked through
(a) Encoding (b) Medium

(c) Feedback (d) Passive decoding

Cross-departmental Committees are the form of
(a) Optimum Communication

(b) Upward Communication

(c) Downward Communication

(d) Lateral Communication

Aman pointing to a photograph says —“The lady in the
photograph is my nephew’s matemal grand-mother”.
How is the lady in the photograph related to the man’s
sister, who has no other sister ? She is

(a) Cousin (b) Sister-in-law

(c) Mother (d) Mother-in-law

Find the correct altemative from the following :
Ocean : Pacific : : Island : ?

(a) Greenland (b) Ireland

(c) Netherland (d) Borneo

Arrange the following in a logical order :
1. Frog

2. Eagle

3. Grasshopper
4. Snake

5. Grass

(@ 1,3,5,2,4
(e).5,3;1, 4,2

(b) 3,4,2,5,1
(d) 5,3,4,2 1

Amonkey climbs a 12 meters high slippery pillar.
In his first minute, he climbs 2 meters and in the
next minute, he slips one meter down. In this way,
how much time will he take to reach the top of
the pillar ?

(a) 10 minutes
(c) 12 minutes

(b) 21 minutes
(d) 11 minutes

Find the number of triangles in the following figure :

(a) 12
(c) 14

(b) 13
(d) 15
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80.% Match the List—I with the List— Il and select the correct

81.

82.

83.

84.

85.

86.

87.

answer using the codes given below the list :
List -1 List—1Ii
A. All men are mortal. 1. Universal negative
B. No man are perfect. 2. Particular negative
C. Some students 3. Universal
are intelligent. affirmative
D. Some farmers 4. Particular
are not rich. affirmative
Codes :
A
(a) 1
(b) 2
(c) 4
(d) 3

NN
Bw-abh
MNWN O

The process of judging some problem situation
on the basis of its similarity with one encountered
earlier, is known as

(a) Anchoring heuristics

(b) Heuristics of representativeness

(c) Adjustment heuristics

(d) Availability

Which one of the following sometimes hinders
the problem solving ?
(a) Heuristics

(c) Analogy

(b) Mental set
(d) Algorithms

Which of the following decision making style takes

longer time ?
(b) Behavioural style

(a) Analytical style
(c) Directive style (d) None of the above

The proportion of various sectors in a pie chart
is directly proportional to

(a) Perimeter of sectors

(b) Angle of sectors

(c) Area of sectors

(d) None of the above

Mode of the observations 10, 11, 16, 17, 12, 13,
17, 16, 16, 12, 16, 10, 15, 16, 10 is

(a) 13 (b) 15

(c) 16 (d) None of the above

The principal use of ‘definition’ is to eliminate

(a) Logical forms (b) Rules of grammar
(c) Meaning (d) Ambiguity

Any valid standard form of categorical syllogism
with a particular conclusion and two universal
premises will commit the fallacy of

(a) lllicit major (b) Existential fallacy

(c) Hlicit minor (d) Undistributed middle
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88.

89.

90.

91.

92.

93.

9%4.

The missing number (?) in the following series :
60, 180, 90, 270, ?, 405 is

(a) 675 (b) 540

(c) 360 (d) 135

The age of father is twice that the sum of ages
of his two sons. 20 years later, the age of father
will become the sum of ages of his two sons. The
present age of father is
(a) 40 years
(c) 30 years

(b) 60 years
(d) 50 years

Complete the sequence with the correct option
from the following codes :

EGIK: FILO:: FHJL: ?

(a) JGMP (b) JGPM

(c) GJPM (d) GJMP

How many 4's are there in the following which
are preceded by 7 but NOT followed by 3 ?
59321742697461328741383256
74395820187463

(a) Four (b) Three

(c) Six (d) Five

In a row of boys, if A who is 10t from the left
and B who is 9t from the right, interchange their
positions, A becomes 15t from the left. How
many boys are there in the row ?

(a) 24 (b) 31

(c) 23 (d) 28

Arrange the words given below in.a meaningful
sequence :

1. Presentation

2. Recommendation

3. Arrival

4. Discussion

5. Introduction

(a) 3,5,1,4,2 (b) 5,3,4,1,2
(c) 3,5,4,2,1 (d) 5,3,1,2,4

3 men or 7 women finish a work in 32 days.
7 men and 5 women together will finish the twice
of this work in
(a) 19 days
(c) 27 days

(b) 21 days
(d) 36 days
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94.
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Frerfirfea sjaen &
60, 180, 90, 270, ?, 405 & e TEAT (?) B
(a) 675 (b) 540

(c) 360 (d) 135

fa i o11g 38H @ G AT MY F A A g
2 1 20 99 wvsq foar it g SF G Y
IR o SR B SR | R < e 3y ]

(a) 40 =¥ (b) 60 a4

(c) 30 T (d) 50 a¥

frfaRaa e wehdl § @ w8 faehed R 7T i
ot hifre

EGIK: FILO:: FHJL: ?

(a) JGMP (b) JGPM

(c) GJPM (d) GJMP

frfafga & foram W@ 4 2 o Teat 7 8, afe
e d 37ER ?

59321742697461328741383256
74395820187463

(a) =R (b) =

(c) ®: (d) 9=

TSI ol Th UfFd | Ife A, o5 AR T 109 &IH
W g IR BTE N A 9d TWH W g, I g 3
TYH ! 9T § ¢ d &, df ASTE IR A 154
T gl AT 2 | ufe H ot fohad oigsh & 7

(a) 24 (b) 31
() 23 (d) 28

Ho fou M wsci 1 wdfes e H sqafedd hifv
1. w&gfa

2. el

3. JATHA

4, 9=t

5. =™

@) 3,5,1,4,2 (b) 5,3,4,1,2

©) 3,5,4,2 1 d) 5,3,1,2,4

3 HTGH! 1 7 A Teh i i 32 fed # QU = od
g | 7 3t 3R 5 3 fere 3@ g S &

T S
(a) 19 feai & (b) 21 femi &
(c) 27 fet & (d) 36 fei &
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Twotrains of length 127 mt. and 98 mt. aremoving | 95. 127 e 3kt 98 ey ol &) Yermieat fywda et
in opposite directions with speed 35 km/hr and T SR 35 fohaft. /g e 55 fhaft. /ger it 91 @
55 km/hr respectively. After meeting they will S @ R | fien % fea e ae 3 - W
cross each other in IR T TR ?
(a) 6 seconds (b) 8 seconds (a) 6THTE (b) 8 THTE
(c) 9 seconds (d) 10 seconds (c) 9 qHTs (d) 10 Thvs
If x3 + y3 = 35 and xy = 6, x > y, then value of | 96. afe x3+y3=353M xy =6, x>y, d (x—y) =
(x —y) will be oM gRT
(a) 1 (b) 2 (@ 1 (b) 2
(c) 3 (d) None of the above (c) 3 (d) ST & | HIS A&
If (x — 1) and (x + 1) are two factors of the | 97. afg agug x6 - 1% < HEE (x - 1) T
polynomial x8 — 1, then its other factors are (x + 1), at 3T% 3= TUFETE ?
(8) O+ 1), (2 +x+ 1) (a) (x2+1), (x@+x+1)
(b) (2 +1), (@ =x~-1) (b) (X2 + 1), (X2 =x — 1)
(©) (P =x+1), (@ +x+1) ©) 0@ =x+1), (2 +x+1)
(d) (2=x=1),(x2+x-1) (d) @=x=1), (x2+x-1)
Arectangularfield is 112 mt. longand 62 mt. broad. | 98. TH IFATHR @d H! s 112 . qur =ter
A cubical tank of edge 6 mt. is dug at each of the 62711, 2 | 6. TFIR =T T TR 3% @d & TR
four corners of the field and thg soi! SO removed FH W @R T Ik it geré wh @ - @4
is evenly spread on the remaining field. Find the fara1 foen e 3
rise in the level of the field. = S o S
(a) 13.13 cm (b) 11.9.cm (a) 13.13 &t (b) 11.9 %t
(c) 12.7 cm (d) 14.24 cm (c) 12.7 q#ft (d) 14.24 3t
The radius of a solid sphere of a metal is | 99. ot aTg % T 3 et i s 38+ 2 | 3899
3 cm. How long wire of diameter 4 mm can be 4 Torft =@ 1 e o AR @i S A ® 7
drawn from it ?
(a) 8.8 mt. (b) 9.0 mt. (a) 8.8 X (b) 9.0
(c) 9.6 mt. (d) 9.1 mt. (c) 9.6 fix (d) 9.1
Seventeen candidates appeared in an | 100. g Jnreff forelt whan & wfthfer g3 | S anreff
fe)f!an;i_na:ir:)n. The .malrks of th1eoc:ngid;t:s ;Nh7o : whter m@aﬁm 10,9,6,7,8,8,7, 5,
ailed in the examination are 10, 9, 6, 7, 8, 8, 7, - . %
5, 4, 6. The median of marks of all seventeen 4,63 | il Wi % I ?
candidates is (a) 6
(@) 6 (b) 7
(b) 7
(C) 9 (C) 9
(d) None of the above (d) e T & IS T&T
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<« To mark Answer use Black Ball-point Pen only.

<4
<« Candidate must read all the instructions before writing the answers.

< You are to mark your answer on Answer-Sheet only. After the examination is over, handover the
4 original Answer-Sheet to the Invigilator. :

: £ DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO. “:
< b
< CODE : RFL- I 2020 "
{suB : ( SERIES )

<

< GENERAL STUDIES -II A

<

<

: Time : 2 Hours - Max. Marks : 200

‘ o

: Write your Roll Number In numbers

< =5

: in the box In words

|

A

|
:1.
4 2.

e

6]
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_ This Test Booklet contains 100 questions. Each question has four (4) options which are given

. If you happen to find that the Booklet issued to you does not have all the pages properly printed

. In this question booklet questions are printed in both English and Hindi languages. In case of any

VVVVVVVVVVVVVVVVVVVVVVVVVVYVVVVVVVVVVVVVVVVVVVVVV.

IMPORTANT INSTRUCTIONS

Answer all questions. All questions carry equal marks.

The Candidate should indicate the correct Roll Number, Subject, Paper Code and its Series on the
Answer-Sheet, otherwise the Answer-Sheet will not be evaluated and the candidate will be solely p.
responsible for it.

VVVVVVVVVVVVVYVVVVVVVVVVVVVV

\A A4

below the questions. Only one option is correct out of four. You are required to darken the circle p
corresponding to the alternative which you consider to be the correct or most appropriate answer p
in the Answer-Sheet by Black Ball-point Pen.

Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space for
rough work given in the last two pages of Test Booklet.

or it has any other deficiency, then you need to approach the Invigilator to get another Booklet of
same Series and Code.

ambiguity in the question the English version of the question shall Prevail.

Penalty for wrong answers : :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

ANSWER SHEET.

(i) There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will
be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty

for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.

T & : AV T T2-E1 WUTAL 36 YIETehl o Ted o3 UL BT ¢ | |
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